<C2> EXPONENTIALS AND LOGARITHMS

Answers - Worksheet D

= logo % 2

= logjp 3 — logyo 2
=b-a

= logio (2° x 3)

=3 log 2 +logio 3
=3a+b

=logio (1.5 x 100)

= logy 1.5 +log;o 100

=b-a+2
i =log ¢’ = tlogg=14p 4
ii =log;8+log,g=3+p
3+p-1ip=2
p=logg=-2
q=2"=73
(09_3) 6
h=—
(3)'-4=0
(3)'=4
x=18% — 126350
lg
i =27(29)=1¢ 8
i =2(2%) =22 =27
20 -Tt+6=0
(2t-3)t-2)=0
1=2"=212
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x=-22 1=0.585(@3s0), 1
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=5
a logzx= 3

x= 3" =3.95(3sf)
b 3logzx—5logsx=4
log; x =-2

—32_-1
x=3 5

2000 = 1000 x 1.022*
2=1.022%
4t1g 1.022=1g2

g2 _
41g1.022
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b 2x+1)lg3=(x—4)lg2

x(g2-21g3)=1g3+4l1g2
_ lg3+41g2
lg2-21g3

a log,(Bx+5)+3=7
3x+5=2"=16
=l

b log, (x+1)+1log, Bx—1)=5
(x+DBx-1)=2"=32

3 +2x—33=0

Gx+11)(x-3)=0

— 11
x——7,3

for real log, Bx—1),x> 1 .. x=3
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9 x+4=2x 10 a =0 = n=2000
x=16 b 3600 = 10
1+8¢
12 -3
+2=_"= + =
y+2 b+l 1+8c 5
G+ + =12 =1
¥ +3y-10=0 =2
+35)(-2)=0 c=3
y>0 . y=2 ¢ 4000 = 1800(}{
1+8¢
log, x =log, 16 =4 1+87=2
c'==
= g5
lgi/z
t=3.578 weeks = 25 days
—zX
ii y=loggx = x=8=2" = y=6—4x
-~ logyx =3y logixy=+ = xy=4%=2
32y)+3y=6 sub. x(6—4x)=2
y=loggx= 3 2% =3x+1=0
L x=8 =4 Qx—D(x-1)=0
x=1,1
wx=g,y=4orx=1y=2
13 VA 14 a whenx=1,
LHS=8-4(4)+2+6=0
- x=11s a solution
b 23X:(2X)3:u3
y=(3) y=2"+1 2% = (2 =i
() =2 -4 +ut6=0
(0,2) ¢ x=1=>u=2 .. (u—2)is afactor
0,1
e > w— 2u— 3
0 o u—2)u3—4u2+ u+t 6
3 2
At ’ N2 X2 —21/[2 + u
(%)+2:1 - 20" + 4u
2r2 =120 " 3u+ 6
ov = Z1ENI+4 - 3u+ 6
2 i —
2= 2125 o sols] or 5 (4= 2)u — 2u—3)=0

21 -

L y=(3N5 - H =45+
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u-2)u-3)u+1)=0
u=2"=-1[nosols], 2 or 3

x =1 (given) or 183 _ 58
g2



